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PART A: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer
sheet.

WS Bl 33 0305 crrdgamo 311 395 4 g0 U1 ke 50 (39051 (HIT ) dudl B) (ol i () Loy 45 5 1900 0 (0015 (3901 s

61- The report of the experiments done by the students ... to their teacher this morning.
1) was sent 2) has sent 3) are sent 4) have been sent
62- She won’t go to their party because she ... .
1) hasn’t invited 2) wasn’t being invited
3) haven’t been invited 4) hasn’t been invited
63- | don’t think he’s met our new English teacher before, ...?
Ddol 2) hasn’t he 3) has he 4) is he
64- Parents are actually the first ... for children. No other person or outside force has a greater
influence on a child than a parent.
1) appreciation 2) generation 3) dedication 4) inspiration
65- Thomas Edison had lots of inventions in his lifetime; that’s why so many people throughout the
world ... him as a great inventor.
1) prefer 2) regard 3) include 4) record
66- The problem your son has recently created has put me into a trouble that | can't ... how to find a
way out of it.
1) stand for 2) bring up 3) look up 4) figure out
67- Although I tried, 1 was unable to ... any information from my husband about my birthday gift.

1) improve 2) donate 3) elicit 4) increase
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice

on your answer sheet.

William Shakespeare is an English poet, playwright, and actor. He is regarded as the greatest
writer in English language. Shakespeare was born in 1564 to a catholic family in Warwickshire,
England. However, there is not much evidence about his own religious ...(68)... . Shakespeare is
the author of countless plays and poems. His works often deal with different human ...(69)... such
as love, jealousy, greed, doubt, and fear. The beauty and the depth of his works inspired many
writers ...(70)... after him. Another feature of Shakespeare’s works is their language.
Shakespeare’s mastery over English language was so complete that he even ...(71)... words he
needed to describe his characters’ thoughts and feelings. Although Shakespeare was well-known
and well-respected ...(72)... his lifetime, he received greater appreciation after his death. William
Shakespeare died in 1616, at the age of 52.

68-1) functions 2) processes 3) agreements 4) beliefs

69-1) contrasts 2) emotions 3) effects 4) conditions
70-1) lived 2) will live 3) who living 4) who lived
71-1) invented 2) supposed 3) contained 4) communicated
72-1) when 2) while 3) during 4) since

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

Passage 1

People often ask what the most difficult language to learn is. It is not easy to answer because there are
many factors to take into consideration. Firstly, in a first language the differences are unimportant as
people learn their mother tongue naturally, so the question of how hard a language is to learn is only
relevant when we want to learn a second language.

A native speaker of Spanish, for example, will find Portuguese much easier to learn than a native
speaker of Chinese because Portuguese is very similar to Spanish, while Chinese is very different, so
the first language can affect learning a second language. The greater the differences between the
second language and our first are, the harder it will be for us to learn. Many people answer that
Chinese is the hardest language to learn, possibly influenced by the thought of learning the Chinese
writing system, and the pronunciation of Chinese does appear to be very difficult for many foreign
learners. However, for Japanese speakers, who already use Chinese characters in their own language,
learning how to write will be less difficult compared with the speakers of languages using the Roman
alphabet.

Some people seem to learn languages readily, while others find it very difficult. Teachers and the
circumstances in which the language is learned also play an important role, as well as each learner’s
motivation for learning.
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73- This passage as a whole is about ... .

1) the hardest language 2) native speakers of Spanish
3) new languages 4) learner’s motivation for learning
74- The question of how hard a language is to learn is relevant to ... .
1) second language learning 2) both first and second language learning
3) writing system 4) thought of learning
75- The underlined word “who” in paragraph 2 refers to ... .
1) Chinese speakers 2) people 3) Japanese speakers  4) foreign learners

76- Which statement is TRUE according to the passage?

1) Portuguese is definitely easier than Chinese.

2) The writer thinks that learning new writing systems is easy.

3) A Japanese speaker may find the Chinese writing system easier than a speaker of a European language.

4) The greater the differences between the second language and our first are, the easier it will be for us

to learn.
Passage 2
Students do not have the habit of using a dictionary. They think that they can carry on their
education, including language learning, without a dictionary. Students usually do not bring their
dictionaries to school in the first place because they are heavy. They prefer to use the small pocket
dictionaries or the electronic ones because they are easier to carry. However, these dictionaries
usually mislead the students by only giving a single or an inaccurate definition. A solution to this
problem may be having lockers for the students in the school corridors, but this is an administrative
issue and not very easy for a teacher to provide. A colleague of mine suggested collecting all the
students’ dictionaries at the end of the day and giving them back to them the next morning. It seems
like a good idea, but again it depends on how many students a teacher has. Moreover, if a student has
only one dictionary and leaves it at school, then he/she cannot use it at home.

Nation (2003) states that students who are learning vocabulary need to know at least 2000 words in
English to use a monolingual dictionary easily. Furthermore, students do not achieve this until after
5-6 years of language study. Therefore, students do not want to use monolingual dictionaries because
they find them difficult to understand. | believe that the level of the student is important in choosing a
dictionary. Teachers should not make their elementary-level students use a monolingual dictionary.

77- The underlined pronoun “them” in paragraph 1 refersto ... .

1) corridors 2) pocket dictionaries 3) students 4) dictionaries
78- According to the passage, the author believes that ... .

1) students prefer to use paper dictionaries because they are perfect

2) the learners must have only two dictionaries

3) finding the level of the learners is essential in choosing a dictionary

4) use of the pocket dictionary is the best habit
79- The last paragraph of the passage includes a number of ... .

1) suggestions 2) comparisons 3) facts 4) descriptions
80- Which of the following questions does the writer try to answer?

1) Why don’t learners use dictionaries?

2) Is the advanced level of English a benefit in the world?

3) Is a paper dictionary better or an online dictionary?

4) What is an example of a monolingual dictionary?
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